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The number of women who have become Chief

Ministers of Rajasthan till date as on 1™ September
2024:
Choose the most appropriate answer from the

options given below:

| TR 2024 T ToRAM H o fopat afear

ettt fospedt 4 @ wafferes 3ug® ST
a) 1 B) 2
© 3 D) 4

(E)  Question not attempted / H@ﬁﬁﬁ Iq

Who among the following was appointed the
deputy Chief Minister of Rajasthan in December
20232

Choose the most appropriate answer from the
options given below:

(A) Gajendra Singh Khimsar

(B) Rajyavardhan Singh Rathore

(C) Bhajan Lal Sharma

(D) Prem Chand Bairwa

(E)  Question not attempted

fFrafafaa o @ forgr feawsr 2023 °, TSI &

SUREIHAT o U@ T ek feRam T o
frfafaa faeredt 4 & @aifas sag® ST
(A) Tz o famat

(B) UsaeH fig Udte

(C) IS Tl I

(D) U9 =< ST

(E) 3gaid o

Select a Rabi Crop grown in Rajasthan:
Choose the most appropriate answer from the

options given below:

(A) Barley (B) Bajra

(C) Maize (D) Rice

(E)  Question not attempted

TSTEAT | 3T ITeAT TofT e ohT T8 ehIToTu:
frfafeaa faeredt o & @aifaes Iag® ST IA:
(A) S (B) =

(C) HnT (D) =ad

(E) Srfaiayy

OPQ-XI12] 3k

Given below are two statements:

Statement (I): In Rajasthan Pabuji is worshiped
as the God of Camel.

Statement (II): Pabuji is credited to be the first to
bring Camel to Marwar.

In light of the above statements, choose the most
appropriate answer from the options given

below.

(A) Both Statement (I) and Statement (II) are
correct.

(B) Both Statement (I) and Statement (II) are
incorrect.

(C) Statement (I) is correct but Statement (II)
is incorrect.

(D) Statement (I) is incorrect but Statement
(IT) is correct.

(E)  Question not attempted

= &1 e feg o 2:

O (1): TSTEAT | UTaSiT T el o SadT o &9 H
ST 6T STt 2

o (I1): ARETS H HeATH 3¢ T T 31 qefit shi
H

SHIH AT o 3ATeiies |, Frr fou e fashedt & &
qaifass 3ug ST |

(A) A (1) 3R A (IT) ST Tt &)

(B) e (I) 3R e (I1) T 7T 2l

(C) o (1) TET © AT e (1) TTeid 2

(D) YA (1) A & AT e (11) Het 2

(E) raid 9

Rulers of the princely states have treasured the

accounts of their valour, victories etc. written by
the chroniclers. What are these accounts called?
Choose the most appropriate answer from the
options given below:

(A) Khyat (B) Vachnika

(C) Dawavait (D) Vaat

(E)  Question not attempted

ot 5 ST T e, Frerdt i i
I giaeTaeRRi S fore T SAfiwerat #§ i @
R1 S AT T AT HET ST 22

frfafaa faereat 4 @ waffaes Iag® 3T T:
(A) @@ (B) a=feRt

(C) grEEd (D) dmd

(E) SIgdia g4
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Which dialect is spoken in the areas of Churu,

Jhunjhunu, Hanumangarh, Suratgarh and
Ganganagar?
Choose the most appropriate answer from the

options given below:

(A) Malvi

(B) Shekhawati
(C) Mewati

(D) Wagadi

(E)  Question not attempted
TE, 33, TG, TS ST TR & & §

H-HT St st STt 22

frfafiaa faereat o & @aifas 3ug® ST IA:
(A) Wt

(B) @@t

(C) Hardt

(D) drtEr

(E) 3rgaid 9

In Rajasthan, ‘Sanjhi’ is made during the
Shraddha Paksha (fortnight) before which
festival?

Choose the most appropriate answer from the
options given below:

(A) Dussehra

(B) Holi
(C) Diwali
(D) Pongal

(E)  Question not attempted
TSTET H o RITER & Ut 2Tg veT  “Ars” St
STt &2

ettt fospedt 4 @ wafferes 3ug ST
(A) =EU

(B) el

(C) fearett

(D) et

(E) Srfaiays

OPQ-XI12] 3k
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Which of the following regions receives the
highest rainfall in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Rajsamand B)
(C) Nagaur (D)
(E)  Question not attempted

TSR § e § | SF-91 & gaiies aui 9w
AT &2

Churu

Bikaner

it forshedt 3 @ aarfferes 3ug® ST
(A) USEHS (B) I&

(C) MR (D) s

(E) raid o

In Rajasthan on which river is the Gandhi Sagar
Dam located?
Choose the most appropriate answer from the

options given below:

(A) Saraswati (B) Banas

(C) Chambal (D) Mantha

(E)  Question not attempted

T ¥ et qrR sy forer et o feera 22
frfafad faeredt 4 @ waffaes Iag® 3 T:
(A) GTEIdr (B) ™

(C) =& (D) Her

(E) 3Idia g

In western Rajasthan hot dry and dusty winds

start blowing in summers which are known as

Choose the most appropriate answer from the
options given below:

(A) Kaal Vaishakh (B)
(©) Loo (D)
(E)  Question not attempted

afgelt Tseer # WS g § TH SR ga Wl
FAITY ST & Bl & Sl heelldl &
frfafad faeredt @ @ waffas sag® 3T TA:
(A) A T (B) HE3

© T (D) = AT

(E) 3Idia g

Mavath

Monsoon winds
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Which of the following is not a part of human
male reproductive system?
(A) Seminal vesicle (B)
(C) Vasdeferens (D)
(E)  Question not attempted

fAfIRad § & SIF-|T A T S 3 1 91T T80
2

Fallopian tubes

Testes

(A) IRRET (B) ey fetehr
(C) YhdTEsh (D) o
(E) aid 9

Which of the following is not a type of teeth in

humans?
(A) Pylorus (B) Canines
(C) Incisors (D) Premolars

(E)  Question not attempted
frefctRad o & shi-wm 7w H afdl ol Tk TR a1
7

(A) UTEARE B) EH
(C) Fa® (D) T =&Uh
(E) a9

From the following list, select the organs of the
human digestive system:
a. Rectum b. Trachea
c. Oesophagus  d. Urinary bladder

e. Pharynx

Choose the most appropriate answer from the
options given below:

(A) b,dandeonly (B)
(C) a,candeonly (D)
(E)  Question not attempted
frefctRaa =it o & Hrar o qre o= o S o1 =
Hif:

a. HARTT b.
c. 'Q'Iﬁﬁv"TH d.
e. Lot

et fow e forhedt # & waTferes Iuge S I
(A) HadAb,d3fe (B) ohaatc3id

©) FacT a, ¢ 3 e (D) Faet a 3 b
(E) Srfaiays

c and d only
a and b only

AR

o

OPQ-XI12] 3k
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Which of the following is true about CARI
PRIYA?

Choose the most appropriate answer from the
options given below:

(A) Commercial Broiler Chicken

(B)  Dual Purpose Chicken

(C) Commercially Brown Egg Laying Chicken
(D) Commercially White Egg Laying Chicken
(E)  Question not attempted
fafaRaa & & F-81 e <R e & e d gt
22

frfaRaa fosredt # @ waifae 3ugw a7
(A)  aorfsae SR gRfat

(B) 3Ie e ATl gRtar

(C)  afOTToorsh 9L 37 3 ATt ARl

(D)  aOTSae: wwhe 3 o aTeft gRTar

(E) eigaiayy

Which of the following pair of poultry bird and

its characteristic is correctly matched?

Choose the most appropriate answer from the

options given below:

(A) CARI DEBENDRA - Commercial White
Egg Laying Chicken

(B) CARIPRIYA - Dual Purpose Chicken

(C) CARI SONALI - Commercial Brown Egg
Laying Chicken

(D) CARIBRO VISHAL - Dual Purpose
Chicken

(E)  Question not attempted

frfafea # & fore Fagpe waft ST Iueh! famiwar

1 ST wEt gAferd 27

frfaiad foredt # @ @aifae 3ugw 3ut I1:

(A) Kt To - ATOTTSoh Hha 31 o arett gt

(B) K€t i - <ret 3ea arett it

(C) K HHTT - afurfoss Y 312 o arett qftt

(D) s foreTret - drex Ie arett qfitat

(E) 3Iqdia gy
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Which of the following pair of poultry bird and

its characteristics is not correctly matched?

Choose the most appropriate answer from the

options given below:

(A) CARI SHYAMA - Improved Indigenous
Fowl

(B) UPKARI - Improved Indigenous Fowl

(C) HITCARI - Improved Indigenous Fowl

(D) CARIBRO MRITYUNIJAY - For hot and
humid region

(E)  Question not attempted

frfafiaa # & fore e waft ST Sueh! fowar
SIS o1 Wl firer T foparr T 22

frfafaa fosredt 4 & @atfere sug ST TH:
(A) K AT - 37 <21 77

(B) WY - 37t o211 H7T

(C) TEashI - 3~a St 771

(D) sl g - e ST 31ms & o forg

(E) 3rgaid o

Which of the following is a grazier/shepherd of
Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Gaddi
(B) Dhangars
(C) Raikas

(D) Gujjar Bakarwals

(E)  Question not attempted

ffafad 9 & H-81 TS 1 <RaeT 82
Freferfan forped § & warifire SUw S
(A) T

(B) FTR

(©) TIHT

(D) TSR ST

(E) Srfaiays

OPQ-XI12] 3k
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Vijaya Stambh (Chittorgarh, Rajasthan) is a 9
storied pillar made of:

Choose the most appropriate answer from the
options given below:

(A) Red Sandstone and White Marble

(B) Red Marble and White Sandstone

(C)  Only Black Stone

(D) Only Red Stone

(E)  Question not attempted

9 Tfeer Wfertaes fosmr wy (fesitee, Temeerm)
foraa s 22

frfeiaa fopedt 3 & @aifere 3ugw ST
(A) T ST Tee ST HHE HITHAL

(B) ATt HTHTHT SR Hhe ST TeoR

(C)  ohdeT ShIcAT T2l

(D)  hdoT AT Je2rk

(E) ¥ g4

In which month the festival of Gangaur is
organized?

Choose the most appropriate answer from the
options given below:

(A) Falgun (B) Chaitra

(C) Baisakh (D) Shravan

(E)  Question not attempted

TURTR o TSR 3T SATASH fohd HTE BT 82
frefetRa fospedt o & wafferes 3ug ST T
(A) HEH B) =7

(C) g (D)  HmEuT

(E) rgaid 9

A number of veiled women dancers balance up to
seven or nine brass pots on their head. This dance
form is called:

Choose the most appropriate answer from the
options given below:

(A) Ghoomar (B)
(C) Terah Tali (D)
(E)  Question not attempted

5 Y e ATt wieand 7o R aa A = dfia
o U Wi W T LT | T H a8 et
FHEA & :

Kalbelia
Bhawai

frefetRad fospedt @ & waffere 3ug ST !
(A) TR (B) wIeisiform
(C) e dTe (D) ETg
(E) 3rgaid 9
[ Contd...
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Which dance is performed by the Bheels in
Mewar?

Choose the most appropriate answer from the
options given below:

(A) Gavri Dance (B)
(C) Bhawai Dance (D)
(E)  Question not attempted

Hare § it gRT TR e s wasta fora ST 22
frfafaa faeredt o & waifaes 3ag® ST IH:
(A) T T (B)  hresiferal e
(C) wETET (D) TR

(E) 3rgaid 9

Kalbeliya Dance

Ghoomar Dance

Where is the ‘Tripura Sundari Temple’ in
Rajasthan located?

Choose the most appropriate answer from the
options given below:

(A) Banswara (B)
(C) Sikar (D)
(E)  Question not attempted

Churu

Bikaner

frfeiad fospedt # & wafieres 3ug ST
(A) SrEaTST B) =&

(C) ®a (D) T

(E) 3Tl o1

Gogaji’s (a folk deity in Rajasthan) father’s name
was:

Choose the most appropriate answer from the
options given below:

(A) Bachehal Singh (B)
(C) ArjanSingh (D)
(E)  Question not attempted

TSI (TS | Uk Sieh gadT) & fudrsit o1 a1

T:

Zewar Singh
Surjan Singh

frfeiad fospedt § & wafiere 3ug ST
(A) eed fiE (B) v e

(C) o i (D) ¥ 7

(E) Srfaiays

OPQ-XI12] 3k
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The cost of food thali for poor and needy under
‘Shree Annapurna Rasoi Yojana’, a welfare
scheme of Rajasthan (as on September, 2024) is :
Choose the most appropriate answer from the

options given below:

oM T ST heATT AT “off ST T
IAISHT”, o FA=aTid TS F STELAHaT shT ISIT oht ATt
6t i (forawer 2024 & ITEW) forat 22
frfafad fosreat 7 @ watfae 3ag® SR T
A) T3 B) T2

©) %11 D) T12

(E)  Question not attempted / 31@?!'?{?[ aq

ATAL Sewa Center are located in Rajasthan in/
at:

Choose the most appropriate answer from the
options given below:

(A) The capital of Rajasthan

(B)  All major cities of Rajasthan

(C) The Gram Panchayat level

(D)  All the courts

(E)  Question not attempted

TSTET | ST HaT g el T Feerd 82

frfafad faereat 4 @ waffaes sag® 3T
(A)  TSTEAT 6T Tt &

(B) st o g+t i wred §

(C) U™ 9T &

(D) woft =T

(E) 3rgaid o

The Toll free Telephone number for ‘Child
Helpline’ is:

Choose the most appropriate answer from the
options given below:

ETE A % fou My a9 g

(ST T R:

frfafad faeredt 4 @ waffaes Iag® 3T TA:
(A) 1090 (B) 1095
<) 112 (D) 1098
(E)  Question not attempted / 31@?!‘?(?[ I
[ Contd...



27

28

Which Festival of Rajasthan is celebrated on 14"
January, on the day of Makarsankranti, every
year?

Choose the most appropriate answer from the
options given below:

(A) Kite Festival

(B) Colour Festival

(C) Ballon Festival

(D) Rose Festival

(E)  Question not attempted

TS 8 9fd oY 14 e, HehtEsh1i=d o & J41T
ST STl THTER T =13 ShiToTT:

frfeiad foskedt # & wafiere Iug ST
(A) 94T 3cHT

(B) T 3cwd

(C) AT I

(D) T I

(E) 3rgaid o

CAZRI, a research institute in Rajasthan, is
working on the issue of:

Choose the most appropriate answer from the
options given below:

(A) Arid ecosystem

(B) Space research

(C) Camel research

(D) Industrial research

(E)  Question not attempted

FTSHI (CAZRI), TSEAT T Teh I TEA forg
forerer ot ahmef ot Tt 22

frfafiaa faeredt o & @aifas 3ug ST IH:
(A) 7o uTifearfereht o

(B) 3idfer sia/srqeam

(C) I IFTHIH

(D) Tk TgeeT

(E) 3Tl =1

OPQ-XI12] 3k
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Choose a major issue which has always affected

the agricultural development of Rajasthan -

Choose the most appropriate answer from the

options given below:

(A) Unpredictable and irregular rainfall

(B)  Scarcity of metals and minerals

(C) Insufficient land for agriculture

(D) Lack of interest by entrepreneurs of
Rajasthan

(E)  Question not attempted

frfafea o & 38 wq@ 78 =1 = Fifse e

TS § Y forehrer ot waa wwnfar foram 28—

frfafad faeredt § @ Gaifad Iug® 3 T0:

(A) AT SR st aut

(B) oTq SR @it ohl et

(C) % o forg srorte ofir

(D)  TSTEAM % I 8 2 ot wHl

(E) raid 9

With which occasion is the Kachchhi Ghodi
dance associated?
Choose the most appropriate answer from the

options given below:

(A) Teej (B) Marriage

(C) Holi (D) Navratra

(E)  Question not attempted
FHoDT HIT Tod fohdl STaeR § Taiferd &2
freferfaa foeredt 3 @ @affere Iagw ot H:
(A) s (B) faa=

(C) et (D) TREH

(E) raid 9

On which occasion do women of Rajasthan wear
“Lahariya Bhaant Ki Odhni?”

Choose the most appropriate answer from the
options given below:

(A) Holi (B) Teej

(C) Diwali (D) Birth of a child

(E)  Question not attempted

TS F Afead o s1aer W <arsfar wiq &

frfafad faereat 4 @ waffas Iag® 3T TA:
(A) Bt (B) it
(€) feareh (D) Ty
(E) 3Idia g
[ Contd...
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In which folk dance of Shekhawati and Kuchaman
are the instruments dhol or drum used?

Choose the most appropriate answer from the
options given below:

(A) Dandiya Dance

(B) Kachchhi Ghodi Dance

(C) Agni Dance

(D) Ghudla Dance

(E)  Question not attempted

TGS SR F=AH o (o8 Aok o | @It a1 $H
T ST TRT BIT 87

et fospedt 4 & wafferes 3ug ST
(A) sifear e

(B) F=SHE T

©) T

(D) TEATA

(E) Srgaiaug

A shopkeeper purchases some apples at 41 for
< 100. How many apples for ¥ 60 should be sold
to gain 64%?

Teh GHMER 3 & U9 3 100 H 41 % 91 & T
64% AT FHM 6 1T 38 T 60 H feha 8T o=t
=Mee?

(A) 12 B) 13

<) 14 (D) 15

(E)  Question not attempted / 31'@'?{?{ Iq

On selling an article for I 230, a shopkeeper
earns a profit of 15%. What is his profit or loss
percentage if he sells the same article for T 210?

(A) 5% profit (B) 7% loss

(C) 10% profit (D) 2% loss

(E)  Question not attempted

Teh &g %l T 230 § S= W Th THHRAR 15% T
T ST 2| AR I8 39 awq I T 210 F AT E,
T 3EHT AT AT BT STRTa 7T 22

(A) S5%<m™ B) 7% ThE

(©)  10% <™ (D) 2% ThET

(E) 3rgaid 9

OPQ-X12] 3k
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A shopkeeper gives a discount of 8% to his cus-
tomers and still gains 20%. What is the marked
price of the article whose cost price is I 460?

Teh GG 31T UTEhi shi 8% shi B &l 3N i
T 20% T T HHRIT| 38 TE] T JHeh oot T

& et s g T 460 22
A) T 600 ®B) T 660
©) 580 D) T550

(E)  Question not attempted / 3T )

Who among the following is the first Paralympi-
an to win two Paralympic Gold Medals?

Choose the most appropriate answer from the
options given below:

(A) Sumit Antil

(B) Nitesh Kumar

(C) Devendra Jhajharia

(D) Harvinder Singh

(E)  Question not attempted

1 7 & form Fcifoss fleaaret A weeft I a1 waot

frmfeiaa forspedt 3 & @afferes 3ug® ST T
(A) ghaakaa  (B) A AR
(C) Wsw=iEr (D) o<t fiE
(E) gaid

Shri Rajyavardhan Singh Rathore, sportsperson
turned politician, excelled in which sport at
Olympic level?
Choose the most appropriate answer from the
options given below:
(A) Long Jump
(B) Volleyball
(C) Shooting
(D) Hockey
(E)  Question not attempted
ot Tsgads g wee &Y faardt @ usHifag o9,
HH-H O § TieifUeh TR W 3k Jawi foram 22
frferaa foered # @ @affere 39gw 3o H:
(A) et AT
(B) diefiarer
(C) TSt (gpfem)
(D) TRl
(E) I g
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Who among the following was the first Governor
of Rajasthan?

Choose the most appropriate answer from the
options given below:

(A)  Shri Gurumukh Nihal Singh

(B) Raj Pramukh Sawai Shri Man Singh

(C)  Dr. Sampurnanand

(D)  Sardar Shri Hukum Singh

(E)  Question not attempted

AR & & TSTe™ & T2 T & 92
frfafiaa faeredt o & @aifae 3ug® ST IH:
(A) it o frere fie

(B) TS W waTs #ft A féfg

(C) <. wFuTaa

(D) uwER #ft 5w fiw

(E) rfaiayy

Find a single discount equivalent to successive
discounts of 10%, 20% and 25%.

10%, 20% FIX 25% T Stk T o SIS Tohel BE
T hifsry]

(A) 55% B) 54%

(©) 46% (D) 48%

(E)  Question not attempted / \’ﬂaﬁﬁﬁ Iq

The price of a commodity decreased by 10%
which enabled a shopkeeper to purchase 8 kg
more of it for Rs. 3600. Find the reduced price
per kg of the commodity.

forelt aeq &t Fima F 10% # FH N T,
TR 39 g 2T 8 TohaT 31fereh W H T 3600 |
Glig Fehl| hHd HH B o oG I hl qid T
I 4 hioT)

(A) %50 B) 48

(C) 45 (D) 42

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

OPQ-XI12] 3k
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43

When 36 is added to 60% of a number, we get the
same number. Then that number is:

et forelt €A % 60% § 36 SISl ST &, A &6 aat
HEAT JTH BT 21 T 98 WA 2

(A 75 (B) 80

©) 90 (D) 100

(E)  Question not attempted / ag?rﬁ‘cr BE)

A student has to score 40% marks to pass in an
examination. He gets 30 marks and failed by 20
marks. What are the maximum marks of the

examination?
Teh D bl I H 3101 81 o feTT 40% 37k 918
T €1 3 30 3% fHeld € SR FE 20 Sfehi & SFeAiof

B SITAT 2, o 90T § SAfeeran 3ieh =T 82
(A) 90 (B) 100
©) 125 (D) 140

(E)  Question not attempted / e

Select the folk dance of Rajasthan which is
popular for entertainment and raising social
issues.

Choose the most appropriate answer from the
options given below:

(A) Kathputli dance

(B) Giddha
(C) Kuchipudi
(D) Garba

(E)  Question not attempted

TSR % 39 Tk T H =97 HIT S AR
I AT W&l &l 33 o feTq J16g 2
frmfeiaa forspedt 3 & wafferes 3uge® ST
(A) YA T
B) firar
(©) Fhme
(D) RS
(E) 3Iqdia g
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While reciting the Phad of Pabuji, a musical
instrument is used called
Choose the most appropriate answer from the

options given below:

(A) Jantar (B) Moochang
(C) Ravanhattha (D) Ektara
(E)  Question not attempted

TS[SHT < TS T 9, ST arer 93 ol YT foparm
VTR, 8 wedmial

e foq T forhedtt 7 @ @ 3ugeH I -
(A) S® (B) ¥

(C) TEvTEedT (D) AW

(E) 3rgaid o

RIICO has set up a Japanese zone in an industrial
park in:
Choose the most appropriate answer from the

options given below:

(A) Mount Abu (B) Neemrana
(C)  Jodhpur (D) Dholpur
(E)  Question not attempted

Bl (RIICO) T T ST & (S), 3Nt
qTeh § TATfUe feram R

frfafiaa faereat o & gaifas 3ug ST IA:
(A) WIS I (B) wET

(C) g (D) IR

(E) raid 9

What is the compound interest on X 15,625 for 9

months at 16% per annum compounded quarterly?

T 15,625 W 16% Wi I 3 & e 3ATaR 7
AT B ATAT =Ishdfeg, AT 9 HTE o foIw foraa
B

(A) 1861 (B) 1941
(C) 1951 (D) 1961
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq

OPQ-XI12] 3k

10

47

48

49

On compound interest a certain sum increases by
10.25% in 2 years. The rate of interest per annum
is:

Tehafe saTsT W we fferd afer 2 awt § 10.25% 5@

ST} 21 i o9 STt shl 2T 2:
(A) 4% B) 5%
©) 6% (D) 8%

(E)  Question not attempted / 3774 )

The monthly incomes of A and B are in the ratio
4:3 and their monthly expenses are in the ratio
3:2. If each saves X 800 per month, then what is

the sum of their monthly incomes?

A 3R B I A4 TR T TUM 4:3 & 3R 3T
e @ T S 3:2 81 A Tedkeh =4t T 800
SITFHTE ST 2, qf SehT Afeeh 31T 3T AT 1T 22

(A) 48,000 (B) 56,000
(C) 84,000 (D) 96,000
(E)  Question not attempted / 3774 T Tq

Which of the following is not a reason for water
scarcity?
Choose the most appropriate answer from the

options given below:

(A) Rise in population

(B) Deforestation

(C) Space research

(D) Global warming

(E)  Question not attempted

71 9 & 8T STeT St St <hT U ST T 22
frfaRad foskedt # & @aifere 3ugw S
(A) SEETH IR

(B) FEHE

(C) iafter srggem

(D)  afiges Swrar

(E) 3Idia g
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Support money for big cattle (big govansh) under,
cattle maintained in cow shelters registered by
the state government is enhanced from October
2024 as-

Choose the most appropriate answer from the

options given below:

(A) I 44/day (B) < 54/day
(C) R 62/day (D) < 68/day
(E)  Question not attempted

TS TR G U Tohd TIRICITSTT § ST et o
IFET H FFZ 2024 H frergam afig 1wt 2-
FfeTfiad foskedt § @ waifere Iug S I

A) T44/fF B) T54/F
©) %62/ D) T 68/
(E) a9

Which of the following regions of Rajasthan
shares its boundary with Pakistan?

Choose the most appropriate answer from the
options given below:

(A) Bikaner (B) Pali

(C) Churu (D) Bhilwara

(E)  Question not attempted

frafafed & Teram &1 S & wiereae &
TS ST+T T T AT 82

frfafaa faeredt 4 & waifaes 3ag® ST
(A) T (B) et

© = (D) e

(E)  3Taied o1

Which of the following regions is located in the
southern most part of Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Churu (B) Banswara
(C) Ajmer (D) Rajsamand
(E)  Question not attempted

frmfafad & siH-am &= TS o gee gfeqoft aer
T fearq a?

frfeiad fospedt @ & wafferes 3ug ST
A) I&® (B) SrEaTST

(C) 3T (D) TS

(E) 3rgaid 9

OPQ-XI12] 3k
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In which of the following seasons Raikas follow
cultivation practice in their life?
Choose the most appropriate answer from the

options given below:

(A) Monsoon

(B) Summer

(C) Winter

(D) Throughout the year
(E)  Question not attempted

TR 3o ST | Tt ffeiad # & fore =g
EaGRY
frmfeiaa forsredt 3 @ waffars 3uges o I:

(A)  wEd

(B) e

(C) wdf

(D) TEW

(E) rgaid 9

Banjaras, a well-known group of graziers were
found in the villages of
Choose the most appropriate answer from the

options given below:

(A) Rajasthan and Uttar Pradesh

(B) Assam and Nagaland

(C) Goa and Maharashtra

(D) Karnataka and Kerala

(E)  Question not attempted

=RATE T Teh STHHHT THE ST &
RIEIR: RIS ICD]

frfafad fasreat # @ waffaes Iagw® S0 TH:
(A)  TSTEATT ST 3T I

(B) Y IR ATIS

(C) TIaT TR HERTSg

(D) i I I

(E) 3rgaid 9
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Pastoralists/shepherds primarily depend on which
of the following activities for their livelihood?
Choose the most appropriate answer from the

options given below:

(A) Agriculture

(B) Industrial work

(C)  Animal Husbandry

(D) Fishing

(E)  Question not attempted

URNfoed/ TERT (AFSH) WOET H S
aTrsfifosht o fow fefafaas & @ frg @ fnf
T &2

frfafiaa faeredt o & @aifae 3ug® ST IA:
(A) i

(B) e wf

(C) T

(D) AT e

(E) a9

When a ray of light incidents normally on a plane
mirror, the angle of reflection is -
Choose the most appropriate answer from the

options given below:

(A) 0

(B)  Greater than 0° but less than 90°

€)  90°

(D)  Greater than 90°

(E)  Question not attempted

FHAT UUT G ST Uk JeRTRT Shl ToRtor iearq STt
Ieft R A T IV BT A BRI

frfeRad fospeat @ & wafiere 3ug ST
(A) 0°

(B)  0° ¥ 3ok W] 90° | A

C)  90°

(D)  90° T Aferh

(E) 3Tl o=

OPQ-XI12] 3k
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Two plane mirrors meet at right angles. A light
ray is incident on one mirror at an angle of 30°.
What will be the angle of reflection from the
second plane mirror?

Choose the most appropriate answer from the

options given below:

2 FHAe U1 T qHL ¥ THHIT T e 8 U
STERTRT Sh foRT0T Tt qUUT O 30° FI0T R ST Bt
21 THL AHA 30T H 3Heh TS 0T T H T
g

frfeiaa forspedt 9 & @afferes 3ug® ST

(A) 30° (B) 60°
(©) 90° (D) 120°
(E)  Question not attempted / 3T T 99

Match List-I with List-1I:

List-1 List-11
Shape Type
a. 0 L Convex mirror
b. X II.  Concave lens
c. ( III.  Convex lens
d. ) IV. Concave mirror
T=iT-1 3 AT F=i-11 3 e i
Tt -1
ATHIT TR
a. () I 3O U
b. X . f9dd g
c. . 3Sdad
d ) IV. 37ade guor

Choose the most appropriate answer from the

options given below:

L O

(A) a-ILb-MI,c-1V,d-1I
(B) a-IlILb-IV,c-L,d-1I
C) a-1V,b-Lc-1I,d-1I
(D) a-IlLb-ILc-1L,d-1V
(E)  Question not attempted / 3133?!'?(‘([ Tq
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Animals which lay eggs are called:
Choose the most appropriate answer from the

options given below:

(A) Viviparous animals

(B) Oviparous animals

(C) Ovoviparous animals
(D) Invitro fertilised animals
(E)  Question not attempted
o1 ¥ ATk Sttt o T R 7
FfcTfiad foshedt § @ waifere 3ug S I
(A) GS{egSTeh Siq

(B)  3USYSI Siq

(C) IHSSRIIS S

(D) P i

(E) raid 9

Identify the oviparous animal.

(A) Butterfly (B) Cow

(C) Dog (D) Human beings
(E)  Question not attempted
SIS Siq h1 TE=H F

(A) faaeft (B) T

(©) (D)

(E) SFfaiauy

Govardhan Asrani, popularly known as ‘Asrani’
is famous as a:
Choose the most appropriate answer from the

options given below:

(A) Music Director (B) Politician
(C) Actor (D) Player
(E)  Question not attempted

MaedT et s for 3T W @ foeaa @, 98
g =

frfafaa faeredt # & @aifaes 39g® 3T
(A) wfafess (B) wsHifaw

(C)  SANar (D) faeret

(E) 3rgaid 9
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The Late Jagjit Singh was famous for which style
of singing?
Choose the most appropriate answer from the

options given below:

(A) Soprano

(B) Western style singing

(C) Tenore

(D) Ghazals

(E)  Question not attempted

T3, off Srsfia féie forer Sieft & e o fore wfrg €2
frfaRad fokedt # & @aifere 3ugw SaC
(A) @Iy

(B)  ufsrt Reft mRE

(C) &R

(D) TSI

(E) I g

Who among the following famous Rajasthani
actor played very important role in National
Award wining film “Paan Singh Tomar”?

Choose the most appropriate answer from the

options given below:

(A) Karamveer Choudhary
(B) Sahabjade Irfan Ali Khan
(C) Goverdhan Asrani

(D) Kiku Sharda

(E)  Question not attempted

Freferiga & @ forer it Tsteart srfiar T asdi
TR 8 FHTHa e o fig ame o 95
HECqU! VT TS

it faw 7T forhedt § @ Har® UG ST IA:
(A) HHSR e
(B) WTESSITE SHM T @H
(C)  TaE Tt
(D) T T
(E) 3Idia g
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In how many years a certain sum of money will
become four times of itself on simple interest at a

rate of 20% per annum?

(A) 10 Years (B) 12 Years

(C) 15Years (D) 20 Years

(E)  Question not attempted

foRa ot & weh fAfara g 20% dramer anfe
TS 3T & H T ol AR AT & STt

(A) 10a9 B) 12a9

(C) 1599 (D) 20a¥

(E) 3rgaid 9

A sum of ¥ 15,000 is invested on compound
interest for 3 years. If the rate of interest for three
successive years are 10%, 8% and 5% per annum

respectively, then what will it amount to?

% 15,000 3T gRT 3 T o foIw =sha g A1 W
s it STt R1 afe SR 39St o forw s =X
AT 10%, 8% 31T 5% Sfders &, ar i st o a1

ITH TIT T B2
(A) T 18,000 (B) 318,582
(C) T18,711 (D) 18,920

(E)  Question not attempted / 33!@?”3??1 99

According to Mineral production in Rajasthan
during 2023-24, Rajasthan is the main mineral
producer in the country for:

Choose the most appropriate answer from the
options given below:

(A) Lead and Zinc Ore

(B) Vermiculite

©
(D)
(E)  Question not attempted

TSTEA @I 3CATE 2023-24 % STTER SO |
TSTEM, QST 1 T q&d 3cq1eeh
2l

rer o e forepedt § & @@ S SR I

(A) T TR ST

(B) aH{FwEE

©) fufadaree

(D) ErEHe/EN

(E) 3rgaid 9

Sillimanite

Diamond
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14

67

68

69

Bhilwara city of Rajasthan is known for

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)
(E)
T T fiTaeT I o Tofq ST ST
2

Frmferfia frckedt § & watfires 37w S0
(A) Tgul 3T T o Seara

(B) Him= 3@

(C) % 37T LT T T

(D) T 3R S Sedre

(E) 3 g

Gold and Silver production
Cement Industry

City of textiles and looms
Lead and Zinc production

Question not attempted

What is the smallest five digit number which is
exactly divisible by 16, 20 and 24?
qfe 3fehi T TEE BT WA S 16, 20 3R 24 &

q‘:\U'T?I': %ﬁ:ﬂw%
(A) 10160 (B) 10800
(C) 10060 (D) 10080

(E)  Question not attempted / T )

Determine the maximum possible length of the
planks that can be cut from three pieces of timber
measuring 4.2 m, 4.9 m and 6.3 m, all of which

should be of equal length.

Tl h SAfIhan §9a T I i, IS
4.27f, 4.9 7, 37 6.3 Wt el THE! o A ZwS B
GH TS o ddl § sh1el ST

(A) 42cm@H)  (B) 56 cm (@)
(C) 63cm(@H) (D) 70 cm (@)
(E)  Question not attempted / 31@?!'&?[ 99
[ Contd...
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How many numbers from 450 to 600 are exactly
divisible by 12, 15 and 20?

(A) Four (B) Three
(C) Two (D) One
(E)  Question not attempted

450 ¥ 600 T fehet FEATq 12, 15 3T 20 ¥ qofa:
forrear &2

(A) =R (B) o=
©) =& (D) T
(E) aid 9

Two years ago, the average age of A, B and C
was 24 years. 7 years ago, the average age of B

and C was 25 years. What is the present age of A?

(A) 16 years (B) 20 years
(C) 24 years (D) 14 years
(E)  Question not attempted

A Y TBA A, B AT C i 37 g 24 9 off| 7
a9 ugcl B 3R C T 3fted g 25 a9 off| A

AT AT T 82
(A) 1698 B) 2098
(C) 2498 (D) l4a9
(E) rgaid 9

Which of the following type of animal is
suggested minimum floor space for housing
purpose?

Choose the most appropriate answer from the
options given below:

(A)
B)
©)

Heifers

Down Calvers

Adult Cows

(D)  Adult Buffaloes

(E)  Question not attempted

Tt o & forer wepr o ug] o forq 3trame s
B =IAH T I T g far T 22
et fospedt o & wafferes 3ug ST
(A) e (FTEH)

(B) BT (S HN)

(C) TIE=RTH

(D) I 99

(E) Srfaiayy
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Which of the following animal product contains
the highest amount (% nutrients) of protein?
Choose the most appropriate answer from the

options given below:

(A) Milk (Cow) (B) Egg

(C) Fish (D) Meat

(E)  Question not attempted

freferiga & @ fora a3y 3care 9 W1 At siferenan
HEAT (% UISeh dedh) Bt 22

frfafad fosreat 7 @ waffas sagw® S0 TH:
(A) 39 (T (B) sfer

(©)  waelt (D) i (i)

(E) raid o

Which of the following animal product contains
the highest amount (% of nutrients) of fat?
Choose the most appropriate answer from the

options given below:

(A) Fish (B) Milk (Cow)

(C) Egg (D) Meat

(E)  Question not attempted

frfafea @ & forer ) 3care 7 =@ 6 waitas
HEAT (% UISeh o) Bt 82

frfafad fasreat 7 @ watfae 3agw® SR T
(A) w (B) T¥ (M)

(€) 3= (D) T ()

(E) raid o

Who among the following is given the credit for
taking Kishangarh style of painting to its zenith?
Choose the most appropriate answer from the

options given below:

(A) Mool Chand (B) Chandan Singh

(C) UdaySingh (D) Nihal Chand

(E)  Question not attempted

ToRTITTE TormehetT et o 36k SHTCRY W of ST
1 2 T o § forer T St &2

frfafad faeredt @ @ waffas sag® 3T TA:
(A) AT (B) =TT

(C) eafuz (D) TrEEs=

(E) 3Idia g
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Who has written ‘Baataan Ri Phulwari’
(Collection of Rajasthan folk tales)
Choose the most appropriate answer from the

options given below:

(A) Shri Lal

(B) Malchand Tiwari

(C) Vijaydan Detha

(D) Laxmi Kumari

(E)  Question not attempted

WA FAARS (TSTEAH AFHATSHAT HT HIE)
fopreren g foredt 78 22

Treferfaa foreredt 3 & wraffére 3ugw Sat I
A)  Hrare

(B) WIS foamt

(C) fosmEm g

(D) et HAN

(E) a9

Name the animal who breathes through its skin:
Choose the most appropriate answer from the

options given below:

(A) Monkey
(B) Earthworm

(C)  Elephant

(D) Camel

(E)  Question not attempted

I SIq BT ATH SIS ST ST Tl & T el 2
frfafaa fosredt & & aatfere suges ST T
(A) T

(B) e

(C) =reht

D) ¥

(E) Srfaiays
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According to the National Research Centre for
Camels, in the camel health and management
calendar, which of the following activities is
proposed for the month of August?

Choose the most appropriate answer from the
options given below:

(A) Investigation of camel sample for
endoparasites trypanosome.

(B) Vaccination and medication for killing
endoparasites.

(C) Soil management of shelters and
numbering of camels for identification.

(D) Hair trimming, vaccination and spray of
chemicals.

(E)  Question not attempted

TSI 32 STTHHT hest oh ITTAR, ¢ o Teeq R
SR Sreet ST WIE % foru Frefead ¥ &

-t Tffarter sedfer 6 g 29

frfafiaa faeredt @ & @aifas 3ug® ST IH:

(A) @WWW%%@R%W@
St

(B)  3T=: YISHTarAT bl A o TIT Fentehom 37K
SUER|

(C)  SATATHT ¥ HaT Yoo 3K TgaT o 1T 3l &l
G|

(D)  IhTRLTT, STl ©T8 3T T o1 [Sgehm |

(E) eigaiayy

Which of the following are the internal parasites
in farm animals?

a. Round-worms b. Fleas
c. Tapeworm d. Mites
e. Coccidia

Choose the most appropriate answer from the
options given below:

(A) b,canddonly (B) a,banddonly
(C) candeonly (D) a,candeonly
(E)  Question not attempted

frfafad & & i & ® Siqel & HAfaie it
K

a.  TIAHH b, foeg

c. HATHH d.  foreHT (wrsed)

e.  HEEISIT

et fow 1T foehedt 7 @ waffares Iug SO I
(A) Db, c 3 d (B) éﬂﬁabaﬁtd
©) FaeT ¢ A e (D) FacT a, ¢ I e

(E) 3Igdia g
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The hormone that regulates the blood sugar level
in our body is:

(A) Adrenalin (B) Insulin
(C) Thyroxin (D) Testosteron
(E)  Question not attempted

TN IR H T TR & &0 Rl (e e arerr
BN S -

(A) TRl (B) sgfer
(C) orRifE (D) LR
(E) 3TIaRa g

The examples of connective tissues are:
a. Blood b. Bone

c. Epithelium d. Cardiac muscle
Choose the most appropriate answer from the

options given below:

(A) aandbonly (B) a,bandconly
(C) a,banddonly (D) b,canddonly
(E)  Question not attempted

TSI Skl o ST & -

a. Th b. ey

c. TUpefifeem 4 w@UEh

et foq T forehedt 7 @ waifae 3ug SO I:
(A) HAFa’Rb (B) Hada, b3Me
(C) acla, b3 d (D) Haab, c3d
(E) Srgaiaug

What is the percentage of oxygen and carbon
dioxide in air inhaled by a human being?
Choose the most appropriate answer from the

options given below:

(A) 16.4% and 4.4% respectively

(B) 4.4% and 16.4% respectively

(C) 21% and 0.04% respectively

(D) 0.04% and 21% respectively

(E)  Question not attempted

TS G e oAl I ATl e H St 37
HIeH STEATHEATES T TFT T BT 22
frfafiaa faeredt o & gaifas 3ug® ST IA:

(A) TREIT: 16.4% 3T 4.4%
(B)  SHUST: 4.4% 3R 16.4%
(C)  SREET: 21% 3T 0.04%
(D)  SRHET: 0.04% 3T 21%
(E)  3Taiea =1
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Who travelled through the villages of Rajasthan
and started his series ‘Mein Dekhta Chala Gaya’
based on the rural life and society of Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Pt. Vishwa Mohan Bhatt
(B) Dr. P.K. Sethi

(C) Jagjit Singh

(D) Karpur Chand Kulish
(E)  Question not attempted

TR TISTERT o T BT WHOT feRaT I TSl &
TTHIOT Sita 7T TS I TG S < g@ar
ESIRRIMIAER IV

frfaRad fomkedt @ & @aifere 3ugw S
(A) ©.fageT o

(B) It % @l

(C) i ffE

(D) YL =S i

(E) 3Igdia g

In 1949, who became the Chief Minister of the
Greater Union of Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Hira Lal Shastri (B)
(C) BrijBhushan (D)
(E)  Question not attempted

1949 ¥ &g TSTEAT E o T&IHAT i a2
frfafad faercat # @ Gaiffads Iug 3 I0:
(A) TOAAIET (B) IATIN

(C) I oo (D) HaTTw

(E) ergaiayy

Nature of magnesium hydroxide is:

Shobha Ram
Sewa Ram

Choose the most appropriate answer from the
options given below:

(A) Acidic (B) Basic

(C) Salty (D) Neutral

(E)  Question not attempted

BefifiTe eregETES S S e 2:
frefetRad fospeat @ & waffere 3ug ST
(A) AT (B) &

(C) Sauig (D) &

(E) 3Igdia g
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The process of depositing a layer of zinc on iron

is called:

(A) Crystallisation (B) Galvanisation

(C) Rusting (D) Neutralisation

(E)  Question not attempted

e T ik T O Bl G hI WBRAT R
e

(A) Treecfior  (B)  IwiEeidd

(C) STEHET (D)  SaTETeRT

(E) rfaiays

Which of the following metal melts even when
kept on a palm due to its low melting point?
Choose the most appropriate answer from the

options given below:

(A) Calcium (B) Gallium

(C) Magnesium (D) Mercury

(E)  Question not attempted

et & & H-et arg ge P T %
T B TR @ X off foreret Sveft 22

frfafaa faeredt # & @aifaes 3ag® ST
(A) Hfeaam (B) Tfcrm

(C) AHifrEm (D) URT (W)

(E) 3wl o=

Which of the following is the most ductile metal?
Choose the most appropriate answer from the

options given below:

(A) Copper (B) Aluminium
(C) Silver (D) Gold

(E)  Question not attempted

et & H-ef waiferd = g 27
frfafaa faeredt § & @aifaes 39g® ST IA:
(A) diaT (B) UqfHiH

(C) =Tt (D) €M1

(E) Srfaiays
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Which movement was led by Sadhu Sitaram
Das?
Choose the most appropriate answer from the

options given below:

(A) Bijolia (B) Shekhawati

(C) Bhagat (D) Non-cooperation
(E)  Question not attempted

T AT &1 A fohdr 3TaTer a1 Aqed foram?
frefetRa fospedt o & wafferes 3ug S T
(A) fortiferam (B) @@

(C) W (D)  3TEeANT

(E) I g

In which phase were Alwar, Dholpur, Bharatpur
and Karauli merged into Greater Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Fifth (B) Second
(C) Third (D) Fourth
(E)  Question not attempted

ot =T 7 TR, IR, WAL A el 1 I3
TSTET # forea gam?

frfafad faereat 4 @ waffas sag® T
(A) U=m (B) fadm

©) = (D) =g

(E) raid 9

Where is the Jawai Dam situated in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Pali (B) Jaipur

(C) Kota (D) Sikar

(E)  Question not attempted

TSR | SaTE are haf ford 82

frmfeiaa forspedt 3 & @afferes 3uge® ST
(A) et B) AT

(C) @I (D) ®H

(E) 3Iqdia gy
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According to the census of 2011 which of the
following districts had the highest population in
Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Bikaner (B) Sikar

(C) Jaipur (D) Pali

(E)  Question not attempted

2011 ST VT o STTAR TSR o 1 7 & o
fSTer <l ST watfaeh &2

frfaRad fosheat W & @afiere 3ug ST
(A) SRR (B) ®ia

() I (D) el

(E) 3rgaid o

According to the census of 2011 which of the
following districts of Rajasthan had the lowest
rural sex ratio?

Choose the most appropriate answer from the

options given below:

(A) Pali (B) Sikar

(C) Jalore (D) Dholpur

(E)  Question not attempted

2011 ST STUHT o STTAR TSR o 1 7 8 o
STt 1 oo fefmrgaTa =aw o

frfeRad fosheat W & @afiere 3ug ST
(A) et (B) ®it

(C) iR (D) e

(E) i o

Where is the Ramsagar wildlife sanctuary located
in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Bundi (B) Dholpur

(C) Churu (D) Ajmer

(E)  Question not attempted

THHTTR FRIS{E SRS Toree § el feord 22
frfafead faeredt § & @aifaes 39g® ST
(A) & (B) IR

€) I= (D) 3T

(E) 3Tl =1
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Which of the following statements is not correct
about the Palash forest in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) These forests are spread in those areas
where the surface is stony and hard.

(B) These forests are found only in plateau
region of Rajasthan.

(C) These forests are spread in Alwar, Ajmer,
Sirohi, Udaipur, Pali and Chittorgarh
regions.

(D) These forests are sub-types of tropical/dry
deciduous forests.

(E)  Question not attempted

TS | GAT 99 o e | 9 5 9 hi9-91 hT
e e 27

frefetRa fospedt & & wafferes 3ug ST T

(A) I a9 I &5 H el & STET 9ol I T
e 21

(B) IS USTEAT % halel USRI &7 § U1 ST 2

(C) & ST, S5, i, e, et 3R
foritere &t ° %t 2

(D) I8 I IVEHCSHIA/H wOT A F
IY-THR B

(E) I g

Which of the following river in Rajasthan is not
associated with the Bay of Bengal drainage
system?

Choose the most appropriate answer from the

options given below:

(A) Chambal (B) Luni
(C) Banas (D) Banganga
(E)  Question not attempted

ere = § 9 7 8 - 7€) sirer <l @l v
T U Heiferd T 22

frfafad faeredt 4 @ waffaes Iag® 3T TA:
(A) = (B) e
(C) =™ (D) SRt
(E) ¥ g
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‘Talab-e-Shahi’ lake is located in which of the
following regions of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Udaipur

(B) Kota

(C) Jaipur

(D) Dholpur

(E)  Question not attempted

fafafas ¥ @ forg & & Useym i areme-u-
TR it feora 22

forferfae foremedi & & wrarffres suzre et a:
(A) STR

(B) @i

(C) vaR

(D) R

(E) a9

Chambal Valley project is a joint venture of
which of the following states?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)
(E)
JeIet-aTel giEeHT Fefafed 5 o forT Tt @
I 3T 27

Freiferfia frchedt & & wratfire 379w S
(A)
(B)
©)
D)
(E)

Rajasthan and Gujarat

Haryana and Rajasthan
Madhya Pradesh and Rajasthan
Madhya Pradesh and Gujarat

Question not attempted

TSTET HI TSR
BT SR TSTErT
T T3 R TSTEAH
HE YT H ISR
IR 99
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In Rajasthan, Bisalpur project is located in which
of the following areas?
Choose the most appropriate answer from the

options given below:

(A) Bikaner

(B) Tonk

(C) Jaisalmer

(D) Udaipur

(E)  Question not attempted

TSTedT ¥ forarare afErsT fmfafad & & fore am
7 feoa &2

= faw e forehedt & & wa@ SUgH ST

(A) R

(B) <&

(C) TR

(D) AR

(E) rgaid 9

Which of the following National Highways pass
through Rajasthan state?

Choose the most appropriate answer from the
options given below:

(A)
B)
©
D)
(E)
Fr=fafaa 0@ wH-ar o Tomm T TS o
IR TTSHAT 87

Freiferfiae bt 2 & warfires 3w oo
(A) TS ST G - 11

(B) TSI TSI €E&AT - 13

(C) TSI TSI 6T - 2

(D) UST TSHEF E§&AT - 37

(E) 3rgaid 9

National Highway no. 11
National Highway no. 13
National Highway no. 2

National Highway no. 37

Question not attempted
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Eight friends collected money to help flood
victims. Six of them brought ¥ 300 each. The
seventh person brought ¥ 100 more than the
average of eight persons and the eighth person
brought I 550. What is the total sum brought by
them?

TS et A a1 difedt i 7ag o forw o gehgr foram)
I ¥ ®8 T 300 vfid e ) et At 118
RN o 38T 8 I 100 3ATereh AT R A1t
=t T 550 AT FHA fehaT TIRT Tt T 152

(A) 3400 B) 2500
(C) 2800 (D) 2400
(E)  Question not attempted / 31'@'&?{ I4q

A family consists of grandparents, parents and
three grandchildren. The average age of the two
grandparents is 66 years and that of the parents is
34 years. If the average age of the grandchildrens
is 8 years, then what is the average age (in years)
of the seven members of the family?

Teh YR | ST ST, Hrar-fuar SN i ard - et
&) Frar-ardt i STEa 3 66 a9 & TR ATt it
HIEd 3T 34 9 &) ATS FId-ift hr 3HTEd 3 8
Y &, A1 IRa o 91 awi i 3TEd 3 (a9 #)
T 82

(A) 33 B) 32
(©) 31 (D) 30
(E)  Question not attempted / ?ﬂgﬂiiﬂ Iq

The selling price of 12 apples is equal to the cost

price of 15 apples. The profit percentage is:

12 91 3T Torshel qe 15 Hell o 33 7 o Ser 2
AT e &

(A) 15% B) 20%
©) 25% D) 27%
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
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The First National Space day was celebrated on

Choose the most appropriate answer from the
options given below:

(A) 20t August 2024

(B) 23" August 2024

(©) 27 August 2024

(D) 315 August 2024

(E)  Question not attempted

TG A feam IR T O
frfeiad foered # & @afiere I9gw o8 :
(A) 20 3TTET 2024

(B) 23 3TTE 2024

(C) 27 3T 2024

(D) 31 3TE 2024

(E) 3Igdia g4

‘Rashtriya Gokul Mission’ is associated with:
Choose the most appropriate answer from the
options given below:

(A) Ministry of MSME

(B) Ministry of Women and Child Development
©)
D)

Ministry of Finance

Ministry of Fisheries, Animal Husbandry
and Dairying

(E)  Question not attempted

frfafad faercat @ @ Gaifads Iug 3 T0:
(A) THTH TS W

(B) Wi Ua st forehmer Harter

(€) o dame

(D) H UTCH, TR 3 S HArer

(E) 3Igdia g4

What is the least number which should be added
to 2928 so that the resulting number is exactly
divisible by 3, 4, 5 and 6?

2928 ® HH €l TEH Bl H&AT S AT AqTMR
it e 3, 4, 5 377 6 & ot forrsr 2

(A 2 ®B) 7
) 8 D) 12
(E)  Question not attempted / agﬁﬁ—cr Iq
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Who was the first woman from Rajasthan to be
arrested during the freedom movement in
Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Sita Devi

(B) Durgavati Devi

(C)  Janki Devi Pandey

(D)  Anjna Devi Choudhary

(E)  Question not attempted

TSTEAT § TdT TG o R TRER 8 areft
TSTEAT T T2 AfeeT i off?

frfafiaa faeredt o & @aifas 3ug ST IA:
(A) ®rargdt

(B)  grierelt aaft

(C) T adft aig

(D) 3iSHT oot <erdt

(E) a9

Which constituent of Henna dye forms a red
colored compound upon exposure to air or
sunlight?

Choose the most appropriate answer from the

options given below:

(A) Quinone

(B) Nephthoquinone

(C) Lawsone

(D) Ammonium Chloride

(E)  Question not attempted

fetT {57 T F-8T STaHIesh IR 1 {3 o TR
ek | 3T UL AT TT T AfITeh ST 22
et fospedt 4 & wafferes 3ug ST
(A) e

(B) e

(C) wm@Em

(D) 3T FAES

(E) Srfaiays
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Which of the following is not an example of
physical change?

Choose the most appropriate answer from the
options given below:

(A) Cutting a piece of paper in four square
pieces

(B) Making a piece of chalk from chalk dust

(C) Changing the colour of the tips of hack-
saw blade on strong heating

(D) Formation of brownish layer on the iron
gates of parks

(E)  Question not attempted

Frefafaa o @ w-am Wi giad= =1t S
T2

frmfeiaa forspedt 3 & aafferes 3uge® ST

(A) S & TF IHS Hl IR HHR IHSl H
AT

(B) Tk T <A1k T ZHST M1

(C) Wm%ﬁ:«;ﬁéﬁnﬁaﬁ@mw—ﬁ
=it a7 1 gl

(D) U % e % AT W 9 7 0
T

(E) raid o

Which of the following statements is correct
about the alluvial soil in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) This is found only in northern districts of
Rajasthan.

(B) This soil is very useful for the production
of wheat, mustard, cotton and tobacco.

(C) This soil contains enough quantity of
nitrogen.

(D) The amount of potash and lime is found
less in this soil.

(E)  Question not attempted

TSR H STetlg gaT & o H frefafiad 3 & s-ar
T w22

frfafad faercdt § @ Gaifads Iug 3 I0:
(A) T8 TSR 3 ST I et & et et 21
(B) ¥ IS, TG, S 3R daTh % Ieqed
%QaﬁwﬂTﬁél
(€) wwﬁmwﬁmwwél
(D) 39 H&T H U™ SR &AT3H (I[) hl AT HH
el &
(E) I o
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Which is not a type of bush found in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Fog (B) Dhaman
(C) Lana (D) Arna
(E)  Question not attempted

It TSTEYT T UTE S ST TSN BT Teh YR Tt
27
frefeiad fospedt 4 & wafferes 3ug ST

(A) T (B) &mHu
(C) @mMT (D) WO
(E) orfaiaud

In an election between two candidates, 20%
voters did not cast their votes and 120 votes were
declared invalid. If the winner gets 75% of the
valid votes and wins by a margin of 1800 votes,
then find the number of voters in the voting list.
2 IFfiear o S T I H 20% AT +
AT AT T ST SR 120 JTE 3o =Tya fohe 7]
AT forstar e A ot 75% fHerar & SR ag 1800
ATl o AT H St ST 2, AN HAQT it § Aaeraret
1 HEAT 914 i)

(A) 4500 (B) 4590
(C) 4650 (D) 4680
(E)  Question not attempted / 33!@?”3??1 Iq

On simple interest a certain sum becomes I 9300
in 3 years and < 10, 500 in 5 years. The principal
sum (in %) is:

T TS 9T Tk (T3 Tfer 3 st 5 % 9300 3R
5aui # T 10,500 & STt 21 @ 9 AT (T ) 2

(A) 7000 (B) 7200
(©) 7500 (D) 7800
(E)  Question not attempted / ﬂ@ﬁﬁﬁ B
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Which of the following factors do not determine
the climate of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Latitudinal position
(B) Longitudinal position
(C)  Wind direction

(D) Distance from the sea
(E)  Question not attempted

frfcTRad o HI9-91 e TSTEAN I S i
fraffea 72 s

frfafad faereat 4 @ waffaes Iag® 3T T:
(A)  srerefer feufa

(B)  Iriader feufa

(C) wa ot famm

(D) wEE

(E) rgaid 9

Which of the following National parks is situated
in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Bandipur

(B)  Sant Ghati

(C) Keoladev

(D) Kaziranga

(E)  Question not attempted

frefafaa & @ wF-a1 TS 3T TereH § feoa
22
frfafad faereat @ @ waffaes sag® 3T TA:
(A) ST
(B) HdHwR
(C) Faced
(D) NI
(E) 3rgaid 9
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In 1800 A.D., the first person to call present
Rajasthan region Rajputana was
Choose the most appropriate answer from the

options given below:

(A) George Thomas(B) James Tod
(C) Hackett (D)  Allchin
(E)  Question not attempted

1800 $EelT 7 HATST o TSTEAT hl TSTYAT el et

T Ak 9

frfafaa faeredt 4 & @aifas sag® ST
(A) SIS oTHE (B) SHIE

(C) Bhe (D) 3t

(E) 3Tl o1

Which of the following districts of Rajasthan had
the highest child sex ratio, according to the census
of 20117

Choose the most appropriate answer from the

options given below:

(A) Jhalawar (B) Banswara

(C) Jodhpur (D) Jaipur

(E)  Question not attempted

2011 ST SFRTUMT o STHR TSR T Aifereh srel
fefrryoTa e fren ffafed # & s 22
frfafaa faeredt 4 & @aifas sag® ST
(A) HreETe (B) wrEaTST

(C) g (D) AR

(E) 3Tl o1

According to the census of 2011, which district
of Rajasthan has the highest urban literacy rate?
Choose the most appropriate answer from the

options given below:

(A) Udaipur (B) Kota

(C) Barmer (D) Alwar

(E)  Question not attempted

2011 3 SIIUET % IFTAR, TSEAH H FQqiesh
TR |T&RAT S AT ISt ShIH-4T T2

frfafead faeredt § & @aifaes 39g® ST
(A) 3R (B) I

(C) W (D) AT

(E) 3Tl =1
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In which of the following years was the Rajasthan
State Road Transport Corporation (RSRTC)
established?

Choose the most appropriate answer from the
options given below:

Frafeafaa o @ fora v & Tey™ U= gee uftges
T (RSRTC) T TToT 53 off?

frefetRad fospeat # & waffere 3ug S T
(A) 1955 (B) 1960

(C) 1962 (D) 1964

(E)  Question not attempted / 31':!3?!'?(‘([ BE)

Which of the following statements is incorrect
about genetic variations?
Choose the most appropriate answer from the

options given below:

(A) Some amount of variation is produced
even during asexual reproduction.

(B) The number of successful variations are
maximized by the process of sexual
reproduction.

(C)  Quite distinct variations are visible among
the individual which reproduce asexually.

(D) Variations arising during the process of
reproduction can be inherited.

(E)  Question not attempted

AR fafi=aretl & g | Fefaiad & &
HIF-ET HIT A 27

frefetRad fospedt # & waffere 3ug ST T

(A)  Fo fafirdr il S o S ot 3
2t 2l

(B)  fiTeh ST Sl WTshAT 3 gRT At farfsr=Taret
i e ¥ iy 2t 2

(C) Tt Sftar S7cifiTeh S Sl ITshaT & S ohd &
37 fafire fafrrard yafia gt 2

(D) S T 9fRAT % SR B aTeft fafir=rang
T B Wl &

(E) 3Iqdia gy
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Which of the following statements are correct

about Mendel’s Monohybrid crosses?

a. Mendel selected wild pea plant for his
experiments.

b. Mendel studied the inheritance of one

character at a time.

c. Mendel’s work was neglected for about 35
years.
d. Mendel used the word factor for gene.

Choose the most appropriate answer from the
options given below:

(A) abandconly (B) b,canddonly
(C) a,canddonly (D) bandconly
(E)  Question not attempted

UeeT o Tehol Goh HehlUTl o o | fefefaa # &
-8 T e B2
a.  Hred A 310 WU & foTT = X (Amges

oft) o dTer BT <+ ol

b.  WSd 4 Tk aR H TH 0T HT SO
STeR foham o)

c. S T M TV 35 98T qeh SUTerd T&T
o]

d.  Tesd S o foTu Sheret 31eg ot S9IT fomam
o]

et fow TTu forehedt # & waTferes Iuge S I

(A) Haeda,b3Mc (B) Hadb, ¢ 3 d

(C) aeTa,c3d (D) Had b3 c

(E) 3Ffaia sy

The character which does not express itself in F1
generation is called-

(A) Dominant character
(B) Recessive character
(C) Allelomorph

(D) Contrasting character
(E)  Question not attempted

a’s’gwaﬁ}uﬁéﬁmaﬁraﬁmqﬁm%,a}
FHEATIT 2-

(A) et Ior
(B) 19Tl TroT
(C) Tdams
(D) faodiqor
(E) Srfaiayy
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‘Tamasha’ is the famous folk theatre of which
place of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Jaipur (B) Udaipur

(C) Kota (D) Bikaner

(E)  Question not attempted

Fg, AR ATeh THTRIT TSTEAT o oy T 1 22
frfafad faereat 4 @ waffaes sag® ST A:
(A) IR (B) I

(C) @iaT (D) dfiEmT

(E) raid 9

Match List-I with List-II :
List-1 List-11

(Type of Fort/Durg) (Name of Fort/Durg)

a. Dhanvan Durg L Bharatpur Fort
b. Van Durg II.  Chittor Fort
c. Airan Fort III.  Siwana Fort
d. Parikh Durg  IV. Jaisalmer Fort
-1 o | gi-11 3T e i

-1 He-11

(fere &1 wehm) (Fere ot AIT)
a. Al L WA fehelt
b. =gl 1L Teritg o1 fore
c. ot L. foam forar
d. U@yt IV. S fohetm

Choose the most appropriate answer from the

options given below:

13 fag e et 4 s g e

(A) a-Lb-ILc-NLd-IV
B) a-IV,b-IIc-I,d-1I
(C) a-IV,b-I,c-IId-1I
(D) a-I1ILb-I,c-1V,d-1
(E)  Question not attempted / 31@?!'&?[ 99
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The ratio of the present ages of Pand Qis 5: 7. If
Q is 4 years older than P, then what will be the
ratio of their ages after 4 years?

P 3T Q T IAHT 3T T 3T 5 : 7 31 AfF Q, P
¥ 439 T E, Tl 4 Y 15 ITehT AT T ST FAT

BN

(A) 3:4

(B) 8:11

© 7:9

(D) 4:5

(E)  Question not attempted / aa?lﬁﬁ 99

A sum of ¥ 2400 is divided between A and B is
such a way that % of A’s share and % of B’s
share are equal. The share of B is:

% 2400 T A 3T B % & 36 FohT af7eT SITaT & o6
A 4 o, B £ fered e 21 B o feee
-
(A)
(B)
©
(D)
(E)

<960

3 1440

<480

< 800

Question not attempted / ﬂaﬁﬁﬁ B

What number should be subtracted from each of
numbers 6, 8, 12 and 20, so that the resulting
numbers are in proportion?

6, 8, 12 3R 20 T H ¥ IH-HY €T HeTE HT
aNTfen, o qiomH Herd g | 22

A) 2

B) 4

© 3

D) 1

(E)  Question not attempted / ﬂ@ﬁﬁﬁ BES
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Dolly, the first cloned sheep died in:

Choose the most appropriate answer from the
options given below:

Sctt T TR F 4 T HE
frfafad fasreat # @ waifas 3ugw® S0 T
(A) 2001 (B) 2003

(C) 2005 (D) 2007

(E)  Question not attempted / 31@?1']3{?[ BE)

The common drug for the treatment of coccidiosis
in cattle is:
Choose the most appropriate answer from the

options given below:

(A) Gentamycin (B) Kanamycin
(C) Dopsone (D) Chloroquine
(E)  Question not attempted

Tafr A sedfenfag & sw=m & fau am=
KL IDES

frfafad fasheat # @ waifaes Sug® S0 I
(A) S=mEEE (B)  HAEREREE
(C) =W (D) FARFET

(E) 3 g

Some frogs use which special plant’s pocket of
water for laying their eggs?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
D)
(E)  Question not attempted

5o e ST 37 21 % o et e et 35 et
T STINT HLT 22

frfaiaa fosredt # @ @aifae 3ugw 3ut I1:
(A) et fa=rer

(B) F¥G

(C)  smfeTTE

(D) HerTR IRTaHeT

(E) ¥ g

Kalanchoe pinnata
Cactus
Bromeliads

Madagascar periwinkle
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Which one of the following buffalo breeds is
mainly found at Calf Rearing Centre, Dag,
Jhalawar, Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Mehsana (B) Murrah
(C) Bhadawari (D) Jaffarabadi
(E)  Question not attempted

frfofiaa o @ 9o o spH-6l et e &9 4 s

frefeiaa fospedt 4 & aafferes 3ug ST
(A) oEEmT B) wd

(C) w=EERT (D)  STTUETar

(E) 3raid 94

Which of the following is not an exotic breed of
cattle in India?

Choose the most appropriate answer from the
options given below:

(A) Jersey (B) Brown Swiss
(C) Kankrej (D) Holstein-Friesian
(E)  Question not attempted

frefafaa 9 @ g § -t gafyrn i faesh
T TE B2

frfeiad fospedt 4 & wafferes 3ug ST
(A) St (B) A faw

(C) i (D) BICEH-hIERE
(E) 3rgaid 9

Which one of the following Italian honey bee
variety is associated with increase in yield of
honey?

Choose the most appropriate answer from the

options given below:

(A) A mellifera  (B) A. dorsata

(C) A. cerana (D) A. florae

(E)  Question not attempted

Frerferfian & & Sferr e 61 B s
RS % AT IcaTed | Heiferd 22

frfafead faeredt o & @aifaes 39g® ST IA:
(A) T FAHT (B) T SR@mT

(©) TEF (D) T IR

(E) SFfaia sy
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Which one of the following is a fresh water
prawn?
Choose the most appropriate answer from the

options given below:

(A)  Peneaus monodon

(B)  Macrobrachium rosenbergii

(C) Catla catla

(D)  Apis melliferia

(E)  Question not attempted

FfRad & § SH-81 STAauii STeT o1 S &2
frfafad fasredt # @ waifae 3ug® S0 T
(A) =G g

(B)  BspIsifargm Usieit

(C)  ohdcTl- hdcdl

(D) v 7t

(E) gaid

Which of the following is not correct about
CARI-NIRBHEEK?
Choose the most appropriate answer from the

options given below:

(A) Itis aresult of Indo-German collaboration
project.

(B) Field evaluation done in Rajasthan and
Punjab.

(C) Itis asingle coloured indigenous chicken.

(D) This chicken is for egg and meat
production.

(E)  Question not attempted

frfaiad & @ < il & a1 F H-81 Fo
e T &2
frmfetiaa forredt # @ warffars 3uges o I:

(A)  IE IRA-STHT TeT GRS 3T aioms 2
(B)  TSTET 3TN USTTa H &1 i foha )
(C) ¥ W& TTaTelt =it 7 2
(D) = il 3feT 3TN e (wiw) 3eame & few )
(E) 3Iqdia g
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Which of the following statements is incorrect?
Choose the most appropriate answer from the

options given below:

(A) Mercury is a metal which is liquid at room
temperature.

(B) Graphiteisametal which is abad conductor
of electricity.

(C) Sodium and potassium are soft metals and
they can be easily cut with a knife.

(D) Iodine is a non-metal but it is lustrous.

(E)  Question not attempted

frfefaa & & S-a1 e 3| 22

frfafiaa faereat o & @aifas 3ug® ST IA:

(A) ORI U UET €1 & S HEL o AOHE W FT
ST ¥ BT 2

(B) UTse Tk UHT Gq @ S foregd i e
&It 2

(C) wifeam i diefmm 7 urqe ¥ ot 5
ST & =T & el ST Hehell 2

(D) SIS Teh ST & TR I8 =Hehict Bl
2

(E) a9

Which of the following is not an alloy?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)
(E)  Question not attempted
freafefad & & -6t fier g et 22
frfeRaa fospeat @ & wafiere Iug ST
(A) TG EA

(B) e

(C) =TT (3i)

(D) et (3IT)

(E) 3rgaid 9

Stainless steel
Cadmium
Bronze

Brass
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Match List-1 with List-II:

List-I List-I1

a.  Reflection from 1. Plane mirror
a polished or
shiny surface

b.  The term used for II.

an upright image

Concave mirror

of an object

c.  The mirror which III. Regular reflection
always forms
same sized virtual
and laterally
inverted image

d.  Mirror used in IV. Erect
solar cooker
and torch

-1 %1 Gfi-11 o T foeT i
-1 Tei-11

a. TURKIWHRSRAT [ GwdA qUor
qifereT T TS
AT §

b. W PR
ffefar o ferg
J<h Aeq

c. dETUUSTIHT
HHTT HATRIT kT
T 37K
T
i ST 2

d.  HIRFHHR AR
21 | T fopam
ST ST g9

Choose the most appropriate answer from the

II. 3{adel 4o

. frafaa wads

IV. 3 (Hiem

options given below:

et fo T forehed # @ @it 3ug Ot I:

(A) a-Lb-IV,c-TI,d-1I
B) a-ILb-MLc-1,d-IV
(C) a-IlILb-1IV,c-Ld-1I
(D) a-IlLb-Lc-IV,d-1I
(E)  Question not attempted / 31@?!‘?(?[ I
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Match List-I with List-II :

List-I List-1T
Ornaments Wearing Part
a. Thussi L. Finger
b. Borla II.  Ear
c. Daamna II.  Neck
d. Jhaale IV. Head
=t 1ok |re gt 11 o e i
TEt-1 TEit-1
e g T ST
a. {{FFI"T L BZIQFﬁ
b.  &Ra I &
c. QAT I TedT
d. @ v. f&w

Choose the most appropriate answer from the

options given below:

e fow o forehedt & & watferes Suges STCT:

(A) a-I,b-I,c-I,d-1V
(B) a-IIb-1IV,c-1,d-1I
(©) a-IV,b-ILc-ILd-I
D) a-Lb-M,c-1,d-1IV
(E)  Question not attempted / ?ﬂgﬁ'ﬁﬁ Iq

‘Mandana’ is a traditional folk art of :
Choose the most appropriate answer from the

options given below:

(A) Rajasthan

(B) Kerala

(C) Goa

(D) Maharashtra

(E)  Question not attempted
TTEAT Teh URUT Tk el &:
frfeRaa fospeat @ & wafiere Iug ST
(A) TSTEYH &l

(B) A

(C) T

(D) HERTSE ol

(E) 3rgaid 9
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Which type of forests are regarded as most
valuable as far as the conservation of forest and
wildlife resources are concerned?

Choose the most appropriate answer from the

options given below:

(A) Protected forests

(B)  Unclassed forests

(C) Reserved forests

(D)  General forests

(E)  Question not attempted

T TREAT S i1 GETeT o Tay | fohd Jehr ok
31 T e e HHT T 22

frefaRad fosmeat & & aifere sug ST
(A) T T (MHT BRE)

(B)  srarficpd

(C) Ifed a7 (felee B

(D) WHE AT

(E) 3Igdia g

Sariska Wildlife Sanctuary is situated in:

(A) West Bengal
(B) Assam

(C) Kerala

(D) Rajasthan

(E)  Question not attempted
Tfept Tt snrEmo fera 2
(A) ufmsma

(B) EmH

(C) FAH

(D) TSN

(E) 3Igdia g
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Which physiographic region of Rajasthan is
known as the ‘Hadoti Plateau’?
Choose the most appropriate answer from the

options given below:

(A) Aravalli region

(B) Eastern Plain region

(C)  South-Eastern Plateau region
(D) Semi-Arid region

(E)  Question not attempted

TSTEAT T HH-GT HINfeTeh & B & 98I0 &
®Y T AT ST 22

frefafaa faeed 3 & aaffars sugw s T
(A) e &

B)  ooff Aarft &

(C)  aferor-a uary &

(D)  3TH-37F &

(E) a9

The ‘Plain of Chhapan’ is located in which of the
following physiographic regions of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Aravalli region

(B) South-Eastern Plateau region
(C) Eastern Plain region

(D) Western Desert region

(E)  Question not attempted

‘BT KT A TSI o Afafaa 9 9 frg
Wifetes & 1 feera 27

frefafaa faered 3 & aaffars sugw s T
(A) ITee &

(B) Sferorgeff wart &=

(C)  ooff fardr &t

(D) ufyft weeorchis &

(E) 3rgaid 9
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Which of the following statements is not correct
about the desert soil in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) This soil is displaced by winds.

(B) This soil is found in western Rajasthan.
(C) Itlacks in fertility and keeps more salinity.
(D) It can absorb and hold the water much.
(E)  Question not attempted

TSR § H&ee1d 9aT & oy § fefaiad 5 9
T F T T 22

frfaftad fasedt § & @affere sugw S0 T+

(A) IEHaT e o g ST arl 2l

(B) I TaT UfH Tereer & ureft STt 21

(C)  39W IATAT <l FHHT qUT FAATAT AT Bl B

(D) € U o STcTereh AT 8 |G 3T €07 T
Tehell 2

(E) raid o

Goitre is caused due to the deficiency of this
element in our diet:
Choose the most appropriate answer from the

options given below:

(A) TIron

(B) Iodine

(C) Calcium

(D) Sodium

(E)  Question not attempted

TS (TTOHTS) BHIL STTER | 39 dcdl shi hHT 3 0T
BT R:

frfeaRad fokedt # & @aifere 3ugw ST
(A) A
(B) EIEH
(C) Ffeaaw
(D) wifeaw
(E) 3Idia g
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147

148

Which of the following is not a biodegradable
waste material?
Choose the most appropriate answer from the

options given below:

(A) Meat (B) Paint
(C) Excreta (D) Leaves of plants
(E)  Question not attempted

frfaftad 4 & sH-a1 Safieie st garet
TE &

frfaRad foskedt @ & wafiere Iug ST
(A) @ B) U<

(C) WA (D) e it ufat
(E) a9

Which of the following are not the possible
causes of AIDS?

a. Drinking impure water from wells and
ponds

b. By hugging the inflected person

c. By injection needle or blood transfusion

d. From infected mother to baby in the womb

Choose the most appropriate answer from the

options given below:

(A) banddonly (B) aandbonly
(C) a,bandconly (D) canddonly
(E)  Question not attempted

frfefad & 9 9 & TgH o duTfad swRor et 82
a. AT AT hT LG T I

b.  TshiHd SAfth Y TTet HTHT

c. IR T Shi Y3 STUET ThHILH ZT

d. SR AT o T H Ry Al

et foq T forshedtt 7 @ waifae 3ugw SO :
(A) HIAbIIRd (B) HdcTa3ib
(C) acda,b3Mc (D) Hactc3id
(E) 3rgaid 9
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Which of the following diseases is not a commu-
nicable disease?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
D)
E)
ffafed & & iF-ar dehme W T &2
frfaRad forkedt # & @aifere 3ugw ST T
IGETRIEE]

&SI (i)

L

Tl (TIEHATE)

N ]

ST T

Chicken pox
Cholera
Cancer
Tuberculosis

Question not attempted

(A)
(B)
©
(D)
(E)

The number of Gold Medals won by India in
Paralympics 2024 held at Paris was:

Choose the most appropriate answer from the
options given below:

Tareifuen, U 2024, H 9RG SR Sfid 7T @t g@ent
oht HeET oft:

e foeredl # & @afiere I9gw o8 :
A) 7
®) 9
©) 13
(D) 6
(E)  Question not attempted / 3T T4
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